#J| T Q0o

(o) T~ ™ [F720

2021-01-22 21:36

Hl 140 Z7|. GSEEHA vs L HME (ME, 2021.01.22, 19:00~21:15)
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Hl 140 Z7|. GSEEHA vs L HME (ME, 2021.01.22, 19:00~21:15)

» EE2Z 7R HL
GSZH A 'S didyd
774 No Block 774
367H / 074 1 Block 367H / 074
987H / 874 2 Block 11774 / 874
974 / 07H 3 Block o7H / 07
‘E2Y A8 ¥ AIE 94/ 83 e
> LE ME ME Al JOf 2270 GE S47|5 Hn
GsZEA 34 vs Atad 3
274 / 274100.0%) No Block 374 / 274(66.7%)
2874 / 157H(53.6%) 1 Block 3174 / 147H(45.2%)
1007H / 407H(40.0%) 2 Block 807H / 387H(47.5%)
- 3 Block 97 / 574(55.6%)

> MEHS 34 22k

> GSZEA
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E AE %53 AlZERE ol =42
MBS 11(18.6%) 16(27.1%) 7(11.9%) 1(01.7%) 0(00.0%) 24(40.7%)
ME =2 32(45.1%) 35(49.3%) 3(04.2%) 1(01.4%) 0(00.0%) 0(00.0%)
oA 43(33.1%) 51(39.2%) 10(07.7%) 2(01.5%) 0(00.0%) 24(18.5%)
P BAMNE (BHEEYR)
> SIhHAM
E AE %53 AlZERE ol =42
MIET 2| 14(29.2%) 9(18.8%) 6(12.5%) 3(06.3%) 0(00.0%) 16(33.3%)
ME =2 52(69.3%) 7(09.3%) 11(14.7%) 4(05.3%) 1(01.3%) 0(00.0%)
oA 66(53.7%) 16(13.0%) 17(13.8%) 7(05.7%) 1(00.8%) 16(13.0%)
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Hl 140 B7]. GSZEHA vs HOfZHY (M2, 2021.01.22, 19:00~21:15)
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> GSZEA (%)

> 2 =9

= ME PN

ol 2y &3 s b B7l | SHME HAE sus s3 =K S A%
1 a4y 46 16 3 19 52 22 2.364 1,733 1,561 1.110 45
2 GSZHA 37 13 6 19 47 31 1516 1,807 1,679 1.076 55
3 IBK7| 23 26 9 10 19 32 42 0.762 1,576 1,666 0.946 11
4 St 2T A 24 7 12 19 34 43 0.791 1,677 1,669 1.005 15
5 KGCRI&tS A 23 7 13 20 33 43 0.767 1,640 1,726 0.950 214
6 e Fa= 18 6 14 20 30 47 0.638 1,654 1,786 0.926 A1
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